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IR RIPE BRHEY | (L5.05) | BHET | (L445)
EINY b HaE w3 | (L5.00) | BHEF | (L4.40)
H29.2.27 |#aF R BHEd | (£585) | BHET | (L5.11)
Z x5 TR BRHEY | (£503) | BHET | (L4.40)
N i) FTEE BRHEd | (£5.72) | BHET | (£5.00)
ZDEE 2FE BRHEY | (£5.72) | BHET | (£5.00)
R =EE BRHEY | (£564) | BHET | (L4.93)
H29.2.24 |[Zw>5Y =ER BRHEY | (L5.05) | BHET | (L443)
AS FEE BRHEY | (L5.27) | BHET | (L462)
#ELA AR BRHEEY | (K497) | BHET | (L435)
H29.2.23 |E—<> IR BRHEY | (L559) | BHET | (L4.90)
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BUER EHE B3 | (<490) | BHET | (L4.30)
H29.2.22 [\ IR BRHEY | (L5.06) | BHET | (L443)
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BO—X AR BRHEY | (K464) | BHET | (L4.06)
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5L EHE BRHEEY | (L504) | BHET | (L441)
H29.2.16 |EB3 XIPE BRHEEY | (K494) | BHET | (L435)
KR FEE BRHEEY | (£5.00) [ BHET | (L4.40)
AS KIPE BRHEEY | (L501) | BHET | (L441)
FoTUE  |RBE BRHEEY | (£503) | BHET | (L443)
BEHA =R BRHEEY | (<490) | BHET | (L431)
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ZDEEH el BRHEEY | (£502) | BHET | (L4.36)
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AS IR BRHEEY | (L514) | BHET | (L447)
ZDEEH 2FE BRHEY | (£503) | BHET | (L4.38)
P oRSRI T8 BRHEY | (£500) [ BHEYT | (L4.35)
H29.2.7 |£45L AR BRHEEY | (<504) | BHET | (L437)
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BUOEH 2FE BHEd | (£550) [ HHET | (L4.88)
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+0Oy EEdnil BHEY | (L5.18) | BHET | (L443)
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FrRy H’—%Lr BRHEd | (£5.27) | BHET | (L458)




